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1. Name the octant wherein the given points

lies: (1,2,3)

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_JlwXlqfaQokZ


View Text Solution

2. Name the octant wherein the given points

lies: (-2,-1,4)

View Text Solution

3. Name the octant wherein the given points

lies: (2,-5,1)

Watch Video Solution

https://dl.doubtnut.com/l/_JlwXlqfaQokZ
https://dl.doubtnut.com/l/_hLBisHo5MXgt
https://dl.doubtnut.com/l/_k7xKG1LrPL0m
https://dl.doubtnut.com/l/_cDR2ZSufn8Oa


4. Name the octant wherein the given points

lies: (-1,-3,-2)

Watch Video Solution

5. Find the distance between the points (2,-4,1)

and (1,3,-1)

Watch Video Solution

https://dl.doubtnut.com/l/_cDR2ZSufn8Oa
https://dl.doubtnut.com/l/_BweOXsOtW1us


6. Find the value of x if the distance between

the points (7,1,x) and (4,5,9) is 13.

Watch Video Solution

7. Find the co-ordinates of the point which

divides the line joining the points (2,-4,3) and

(-4,5,-6) in the ratio 2:1

Watch Video Solution

https://dl.doubtnut.com/l/_rof97GMRjJWI
https://dl.doubtnut.com/l/_sX6Tu6jA8tDJ


8. Find the ratio in which the line segment

joining the points (3,5,7) and (-2,4,6) is divided

by YZ plane

Watch Video Solution

9. Find the direction ratios of the line joining

the points (1,1,-3) and (-2,-3,2)

Watch Video Solution

https://dl.doubtnut.com/l/_lKsGGV2n0HoM
https://dl.doubtnut.com/l/_KYkWlploajy0


10. Find the direction cosines of the line

joining the points (1,1,-3) and (-2,-3,2)

Watch Video Solution

11. Find the projections (feet of the

perpendiculars) of the point(1,-2,4) on the Co-

ordinate planes

Watch Video Solution

https://dl.doubtnut.com/l/_jTMMtaT3PeyN
https://dl.doubtnut.com/l/_NjHlXHUhF93y


12. Find the projections (feet of the

perpendiculars) of the point(1,-2,4) on the Co-

ordinate axes

Watch Video Solution

13. Find the projection of the line segment

joining the points (3,3,5) and (5,4,3) on the line

joining the points (2,-1,4) and (0,1,5)

Watch Video Solution

https://dl.doubtnut.com/l/_2nAayZ5kOMIh
https://dl.doubtnut.com/l/_jNGSptWyb2Ao
https://dl.doubtnut.com/l/_17K8FJ2vF2jp


14. If the co-ordinates of the point p are (1,2,2),

what are the direction cosines of OP. (Here O is

origin).

Watch Video Solution

15. A line makes  and  with y and z axes

respectively. What angle does it make with the

x axis?

Watch Video Solution

45∘ 60∘

https://dl.doubtnut.com/l/_17K8FJ2vF2jp
https://dl.doubtnut.com/l/_hFkb7JxfNw9x
https://dl.doubtnut.com/l/_Mexs9sKQPph4


16. Can the direction cosines of a line be

?

Watch Video Solution

, ,
1

√2

1

√2

1

√2

17. If OP=3 and the direction ratios of OP be 4,2

and 4 then find the co-ordinates of p.

Watch Video Solution

18. If  be the direction

cosines of a line, prove that

cos α, cos β, cos γ

https://dl.doubtnut.com/l/_Mexs9sKQPph4
https://dl.doubtnut.com/l/_eEgmeGB0DFW3
https://dl.doubtnut.com/l/_lqRwsQbvk3aZ


.

Watch Video Solution

sin2 α + sin2 β + sin2 γ = 2

19. Find
 the direction cosines of a line which

makes equal angles with the coordinate
axes.

Watch Video Solution

20. For what value 'a' will the number

 be the direction cosines of a

line?

√ , a, √
1

2

1

3

https://dl.doubtnut.com/l/_lqRwsQbvk3aZ
https://dl.doubtnut.com/l/_tTSFdFyA13hh
https://dl.doubtnut.com/l/_E5ujz70geWyz


Watch Video Solution

21. The angle between the planes 2x-y+3z=6

and x+y+2z=7 is

A. 

B. 

C. 

D. 

Answer: D

0∘

30∘

45∘

60∘

https://dl.doubtnut.com/l/_E5ujz70geWyz
https://dl.doubtnut.com/l/_LNv3BkMI6xaY


Watch Video Solution

22. A line joining the points (1,1,1) and (2,2,2)

intersect the plane x+y+z=9 at the point

A. (3,4,2)

B. (2,3,4)

C. (3,2,4)

D. (3,3,3)

Answer: D

Watch Video Solution

https://dl.doubtnut.com/l/_LNv3BkMI6xaY
https://dl.doubtnut.com/l/_yIW70tJmWNUg


23. Find the image of point (3,-2,1) in the plane

3x- y + 4z = 2.

A. (0,1,3)

B. (0,-1,-3)

C. (0,-1,3)

D. (0,1,-3)

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_yIW70tJmWNUg
https://dl.doubtnut.com/l/_X1S7OKG1rnBd


24. Let
 L be the line of intersection of the

planes 
and 

. If L makes an angles with
the positive x-axis,

then cos 
equals
 
 
1


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

2x + 3y + z = 1 x + 3y + 2z = 2

α

α
1

√3

1

2

1

√2

1

1

√2

1

√3

1

2

https://dl.doubtnut.com/l/_4TTwoTcqiDIz


25. The ratio in which the line joining (2,4,5)

and (3,5,-4) is divided by the yz-plane is

A. 2:3

B. 3:2

C. -2:3

D. 4:(-3)

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_4TTwoTcqiDIz
https://dl.doubtnut.com/l/_lexh9gBGp0ZR


26. The distance of the point (2,1,-1) from the

plane  is (A)  (B)  (C) 

 (D) 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x − 2y + 4z = 9
√13

21

13

21

13

√21
√

13

21

√13

21

13

12

13

√21

√
13

21

https://dl.doubtnut.com/l/_lexh9gBGp0ZR
https://dl.doubtnut.com/l/_eLtzpu5uhbvb


27. The line 

A. is perpendicular to z-axis

B. is parallel to z-axis

C. lies in xy-plane

D. None of these

Answer: A

Watch Video Solution

= =
x + 1

1

y − 1

2

z − 1

0

https://dl.doubtnut.com/l/_eLtzpu5uhbvb
https://dl.doubtnut.com/l/_CDle0nJwccg4
https://dl.doubtnut.com/l/_2utltrJqRzyr


28. Equation of the line passing through (1,1,1)

and perpendicular to the plane 2x+3y-z-5=0 is

A. 

B. 

C. 

D. None of the above

Answer: B

Watch Video Solution

= =
x − 1

2

y − 1

3

z − 1

1

= =
x − 1

2

y − 1

3

z − 1

−1

= =
x − 1

2

y − 1

−1

z − 1

1

https://dl.doubtnut.com/l/_2utltrJqRzyr


29. Find the distance of the following points

from the origin (0,-4,4)

Watch Video Solution

30. Find the distance of the following points

from the origin (2,4,-3)

Watch Video Solution

https://dl.doubtnut.com/l/_Z7t3tUKfDEX7
https://dl.doubtnut.com/l/_0I01EWYaFwnx


31. Find the distance of the following points

from the origin (4,-5,3)

Watch Video Solution

32. What is the distance of the y-axis from the

point(3,-4,0)?

Watch Video Solution

https://dl.doubtnut.com/l/_78ZwVDrMNTey
https://dl.doubtnut.com/l/_9wbb4Bj1oJze


33. Find the distances between the following

pair of points. (4,3,-6) and (-2,1,-3)

Watch Video Solution

34. Find the distances between the following

pair of points. (-4,-2,3) and (3,3,5)

Watch Video Solution

https://dl.doubtnut.com/l/_aw6gMXUz4z45
https://dl.doubtnut.com/l/_EJCc4jfyUeuW


35. If the distance between the points (x,2,0)

and (1,3,1) be  , find the value of x.

Watch Video Solution

√6

36. Show that the points (1,-2,-3),(2,-3,-1) and

(3,-1,-2) are the vertices of an equilateral

triangle

Watch Video Solution

https://dl.doubtnut.com/l/_Bht8g7bzQfgA
https://dl.doubtnut.com/l/_NpdOn3eZNFK1


37. Show that the triangle with vertices

(6,10,10),(1,0,-5) and (6,-10,0) is a right angled

triangle

Watch Video Solution

38. Find the locus of the point which is

equidistant from the points (1,-2,3) and (-3,4,2).

Watch Video Solution

https://dl.doubtnut.com/l/_2NUZBKXmqOHQ
https://dl.doubtnut.com/l/_gUnP9JXK81Lp


39. The distance of a point from the x-axis is

twice its distance from the point (1,2,-1). Find

the locus of the point.

Watch Video Solution

40. A point moves in such a way that its

distance from the X-axis is twice its distance

from the Y-axis. Find the locus of the point.

View Text Solution

https://dl.doubtnut.com/l/_0CDxCCErRFSL
https://dl.doubtnut.com/l/_vBdYU7hoLoOW
https://dl.doubtnut.com/l/_2qxECsfLjwRY


41. Find the co-ordinates of the point which

divides the join of (5,8,-3) and (1,0,-3) in the

radio 3:1.

Watch Video Solution

42. In what ratio does the origin divides the

line segment joining the points P(-1,-2,-3) and

Q(4,8,12).

Watch Video Solution

https://dl.doubtnut.com/l/_2qxECsfLjwRY
https://dl.doubtnut.com/l/_vWew7JIp3mv4
https://dl.doubtnut.com/l/_zm9dXOoYoB4U


43. Find the co-ordinates of the centroid of the

triangle whose vertices are (3,1,4),(-2,5,3) and

(4,-5,3)

Watch Video Solution

44. Find the point of intersection of the

medians of the triangle whose vertices are

(-1,-3,-4),(4,-2,-7) and (2,3,-8).

View Text Solution

https://dl.doubtnut.com/l/_zm9dXOoYoB4U
https://dl.doubtnut.com/l/_W4XV2K1LmYdj


45. Find the lengths of the medians of the

triangle whose vertices are A(2,-3,1),B(-6,5,3)

and C(8,7,-7).

View Text Solution

46. Can there be any line which makes angles

 and  with the co-ordinate axes?

Watch Video Solution

30∘ , 45∘ 60∘

https://dl.doubtnut.com/l/_xzwoyrxmyOvh
https://dl.doubtnut.com/l/_8LCc6k85A7Kx


47. If a line makes angles  and 

respectively with x and y axes find the value of

, where  is the angle made the line with

the z axis.

Watch Video Solution

60∘ 135∘

cos γ γ

48. If a line makes angles  and  with the

co-ordinate axes, find , if  and

.

Watch Video Solution

α, β γ

cos β cos α =
14

15

cos γ = −
1

3

https://dl.doubtnut.com/l/_SaU6dx7e0jW9
https://dl.doubtnut.com/l/_nhDGrwmHXxps


49. Find the direction cosines of the line

whose direction ratio are 2,-4,6

Watch Video Solution

50. Find the direction cosines of the line

whose direction ratio are 

Watch Video Solution

√3, 0, − 1

https://dl.doubtnut.com/l/_nhDGrwmHXxps
https://dl.doubtnut.com/l/_Z0tdeRsZIwIg
https://dl.doubtnut.com/l/_gWNJCZU1bBQz


51. Find the direction cosines of the line whose

direction ratio are a-b,b-c,c-a

Watch Video Solution

52. If a line make angle  and  with the x

and y axes, what angles does it make with the

z axes?

Watch Video Solution

30∘ 60∘

https://dl.doubtnut.com/l/_NENXGUoYNLry
https://dl.doubtnut.com/l/_US44s3dgLQdP


53. Find the direction ratios and direction

cosines of the lines joining the following

points.(1,2,3) and (4,5,6)

Watch Video Solution

54. Find the direction ratios and direction

cosines of the lines joining the following

points. (5,3,-2) and (3,-1,4)

Watch Video Solution

https://dl.doubtnut.com/l/_DjvbEE6mF65V
https://dl.doubtnut.com/l/_Du0yb9Ujsn92
https://dl.doubtnut.com/l/_05TmrlCjPBQ8


55. Find the angle between the following pair

of lines whose direction ratios are given 1,2,3

and 2,-4,4

Watch Video Solution

56. Find the angle between the following pair

of lines whose direction ratios are given

-1,2,1and 2,3,-1

Watch Video Solution

https://dl.doubtnut.com/l/_05TmrlCjPBQ8
https://dl.doubtnut.com/l/_A8M5jKLUosQj
https://dl.doubtnut.com/l/_YEC9qvbz2h6s


57. Show that the line joining the points (1,2,3)

and (4,5,7) is parallel to the line joining the

points (-4,3,-6) and (2,9,2).

Watch Video Solution

58. For what value of x will the line joining the

points (x,6,-3),(5,3,2)will be perpendicular to

the joining the points (2,5,1),(-6,2,6)?

View Text Solution

https://dl.doubtnut.com/l/_YEC9qvbz2h6s
https://dl.doubtnut.com/l/_fPDJvxhUiQpZ


59. A (6,3,2),B(4,1,4),C(3,-4,7) and D(0,2,5) are

four given points. Find the projection of AB on

CD and projection of CD on AB.

View Text Solution

60. For that value of a will be the numbers

 be the direction cosines of a line?

View Text Solution

, a,
1

√2

1

√3

https://dl.doubtnut.com/l/_CAZsWylTAmBe
https://dl.doubtnut.com/l/_lWyGejaHgsY4

